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QUESTION 1

What license is the IBM Watson SDK licensed under?
A. BSD License

B. Apache 2.0 License

C. GNU General Public License

D. IBM Public License

Correct Answer: B

Reference: http://watson-developer-cloud.github.io/java-sdk/docs/java-sdk-2.8.0/com/ibm/watson/
developer_cloud/tone_analyzer/v3/package-summary.html

QUESTION 2

An Al solution is implemented to detect what the user wants to do. The user mentions that he wants to buy
a ski jacket for an upcoming vacation in Colorado.

How can the entities be derived from the conversation using IBM Watson services?

A. Upload training data to the Discovery service and use the Discovery API to query the results

B. Use the Tone Analyzer service to retrieve the level of openness in the utterance

C. Pass the utterance from the user to the Natural Language Understanding service Entities API

D. Pass the utterance from the user through Speech to Text then apply Tradeoff Analytics

Correct Answer: C

QUESTION 3
How does a developer obtain all of the information needed to connect to an IBM Watson Al service?
A. All needed information is published in the service\\'s online reference

B. From the service instance, using the IBM Cloud GUI or the Command Line Interface (CLI), or programmatically using
IBM Cloud environment variables

C. Programmatically using the IBM Cloud registry
D. Connection information is found in the IBM Cloud dashboard

Correct Answer: A
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QUESTION 4

What type of input data can IBM Watson Assistant consume independently?
A. string of text

B. speech

C. images

D. audio

Correct Answer: A

QUESTION 5

The IT helpdesk of a large enterprise routinely conducts surveys of its users. The survey allows the users to rate the
performance of the helpdesk and to enter about 3-4 lines of comments in a free form text field.

Which IBM Watson service should the IT helpdesk use to drive insights from the texts and to look for patterns among
complains for improvements?

A. Use Discovery to extract keywords and entities for common patterns across the comments plus gain insight into the
sentiment expressed by each comment

B. Natural Language Classifier to evaluate sentiments expressed in the comments
C. Use Natural Language Classifier to look for concepts mentioned in the review
D. Use Personality Insights to analyze traits of the users logging the comments

Correct Answer: D
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